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Introduction
During the RAN4-44bis meeting an agreement on a high speed model was reached [1]. This contribution supplies additional results for this model. The simulation assumptions used are according to [2].
Results

The 30% and 70% levels needed are summarized in table 1. In addition the corresponding curves are shown in annex A.

It should be noted that the difference between the different bandwidth options is minor. This can be explained by the high speed. The frequency hopping between slots provides some frequency diversity and it can be expected that the diversity gains are higher for the wide bandwidths. However in the high velocities used here introduces a large amount of diversity between the slots anyway, so the additional diversity introduced by the wider bandwidths does not improved the results any further.

Table 1 – Simulation results for ETU 300, QPSK rate 1/3, Normal CP for different channel bandwidths
	Channel Bandwidth
	2 RX
	4 Rx

	
	30%
	70%
	30%
	70%

	1.4 MHz
	-4.0
	0.7
	-6.3
	-2.5

	3 MHz
	-4.1
	0.5
	-6.3
	-2.6

	5 MHz
	-4.0
	0.5
	-6.3
	-2.6

	10 MHz
	-3.9
	0.5
	-6.2
	-2.5

	15 MHz
	-4.0
	0.5
	-6.3
	-2.6

	20 MHz
	-4.0
	0.5
	-6.3
	-2.6
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Annex A
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Figure 1 – Throughput as a function of SNR for 1.4 MHz Channel Bandwidth
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Figure 2 – Throughput as a function of SNR for 3 MHz Channel Bandwidth
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Figure 3 – Throughput as a function of SNR for 5 MHz Channel Bandwidth
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Figure 4 – Throughput as a function of SNR for 10 MHz Channel Bandwidth
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Figure 5 – Throughput as a function of SNR for 15 MHz Channel Bandwidth
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Figure 6 – Throughput as a function of SNR for 20 MHz Channel Bandwidth

